H & 0o & AF S A A
=

20168 = =0l &t LBHSI A JIEISEEH S =28 ~ S SARA
AR FEP 23 SN BED BFAD
Ha: NYBIAY 2
SRl AL ABYR =7 (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
S =3 149,916,899 149,740,085 176,814
= 68,416,515
Xl 38,806
J| 23,145
< 11,932,416
Al 69,506,017
S HFXF W 5,656,212 4,951,309 704,903
ANy 235t 1,405,192 1,537,531 A 132,339
ALTE AIMER =2 649,906 621,881 28,025
ZHAL LS E S AHEIEM 2 51,100 49,520 1,580
202 044l 37,800 36,720 1,080
04 = W&t Bl 37,800 36,720 1,080
O2HIF& oi2AAE 1,080,000 «35% *12] 37,800
303 &3 13,300 12,800 500
01 L& = 13,300 12,800 500
Osfael & ANMFA 2=2MH Al&=s 4,800
— i 500,000& » 15 M x43] 2,000
- R 300,000& 18 A *43] 1,200
—&d 200,000& 2% M x43] 1,600
ORANE £HT2Y ENY 2% 2 HE
250,000& »34 & 8,500
AU AIE IS 2H 210,886 202,180 8,706
307 glz2tol & 210,886 201,970 8,916
05 RIZtE = 210,886 201,970 8,916
OFU E=sAE 24 210,885,220& x 14! 210,886
245 YRFIES AT HIFXZ 42,990 84,389 A 41,399
201 Let24d] 39,240 66,889 A 27,649
01 At 22l 38,280 64,429 A 26,149
OH2D| 6,000& +1,500H 9,000
OBLALLDS ALY
500, 000& *2 Al 2t 23] 2,000
OAlL, 78 22 #A #40
100,000& »23] * 1504 A& 3,000
ogsd AHA E WA 7,000 =200 122 1,680
ORoldH 249 x 550,000& 122 6,600
OAZYREFES 95 v+
16,000, 000& 16,000
02 =224l 960 2,460 A 1,500
ORERS 80,000& x12& 960
203 R =&t 2,500 3,000 A 500
03 AIBFXH S Z=ZH| 2,500 3,000 A 500




M ox
40 5 4

SA - BB o il 2
OXIS & etAL S 2,500
401 Al HIZ 201 8] 1,250 2,500 21,250
01 A& HI 1,250 2,500 21,250
OJtz8 2J120I1H 25,000 *500H 2~ 1,250
A 2H=EXNE A% 93,025 80,033 12,992
201 Let249] 19,800 13,000 6,800
01 At 2teltl 7,800 0 7,800
OFLAE 2] 600,000& »12& 7,200
OUAE S#ZFH 600,000& *13] 600
02 232gHl 1,000 0 1,000
OFUAE A& EH 1,000, 000& 14 1,000
03 & Ar2 Z I 11,000 13,000 A2,000
O+ 23X 5,000,000& =13l 5,000
OF0RY 553l
500,000 *301 = S 3| 43| 6,000
303 Z& 3 24,200 23,450 750
01 Z&3 24,200 23,450 750
O3+ S&X MESUa AMla=s 2,700
-3 1,000,000& 12 A 1,000
— =R 700,000& x 122 A 700
—&d 500,000 2 N 1,000
OXA AS&t 50,000& *430H 21,500
307 21201 A 45,525 43,583 1,942
07 H3a k=3 45,525 43,583 1,942
OMZERS & Mol=
,035,000& 15 45,525
405 XtAtE SHI 3,500 0 3,500
01 AL EFHSE 3,500 0 3,500
Oz7UAE &) 3,500
— ADJIAIE DI 3,500,000 *1CH 3,500
SEHQ QA2 174,045 122,775 51,270
101 124l 171,945 120,675 51,270
4 D12t ZE2EXNEES 171,945 120,675 51,270
Olxes e 118,384
—Jlas 56,0003 x7H 250 98,000
—SF=S5¢=s 56,0003 7«52 20,384
OJIZHIZ2X AMSI2EE MEERES 53,561
—HLEE 569,707,900 *3.035% 17,291
—EJIYEH 17,290,640& *6.55% 1,133
— =303z 569,707,900 x4.5% 25,637




42 57 23 2N ERT HITAD
HE: NYHyAY 25
SRl AL ABYR =7 (B9 ®R)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
—N82E 569,707,900& x1.5% 8,546
—&THEE 95,342,000& x1.0% 954
201 €2l 2,100 2,100 0
01 At 22/l 2,100 2,100 0
OQINSIZE 918 819 BA £
70,0003 *5& 62 2,100
ANBASZ=AS 8 2+&3 Mzl 21,000 22,000 A 1,000
203 ¥ S =&l 21,000 22,000 A 1,000
03 Al =AY R =&Y 21,000 22,000 A 1,000
OAMZF=A HLRFAH| 21,000,000& 21,000
SE S stits A2l Usl 18,300 17,600 700
307 gl2tol & 18,300 17,600 700
04 DIZHHALAISE E X 18,300 17,600 700
O3+ eots A2 el Hal
18,300, 000& *13] 18,300
ANAIZESI N 38,560 43,384 AN4,824
307 21201 A 38,560 43,384 A4,824
05 BIZHRI & 3 38,560 43,384 AN4,824
OSRd HYH 25 4 38,560,000 » 14! 38,560
do S8 Y ZA 141,666 179,896 38,230
&9 BHEgJE ¥ £&F 64,450 66,450 A 2,000
201 €2l 53,800 51,800 2,000
01 At 22l 53,800 51,800 2,000
OJl&l 2tel Let==H| 400,000& x12& 4,800
OFZANMZ=Z LBt=FHl 12,000,000 * 14 12,000
OFZANHZZ Sl 5,000,000 14! 5,000
OFRY: BN M 20,0003 200 *23| 8,000
OBFASLA H2HDN FE
20,0003 2002 45 16,000
Ouls &8tz M 20,0003 2002 *x2=& 8,000
202 O4dl 7,000 10,000 A 3,000
01 = LH 4 Hi 7,000 10,000 A 3,000
OFFANHZZ NI 7,000,000& 7,000
203 YR =2t 3,000 4,000 A 1,000
03 Al =X YR =& 3,000 4,000 A 1,000
OF&JIal & e AIMPRFAH]
3,000,000& 3,000
405 TtatF S| 650 650 0
02 = A=l 650 650 0




ZA7 =28 SN EET HINAD
Mg ™o e 235
2Hol ZEIlE U AA (B9 ®R)

I SN Y. B () NEAY - BAS 0 AF o il HDS2
O#gAX=z A T AP 13,000& 50 650
ZAES 7,200 7,800 A 600
201 et A H| 1,200 1,800 A 600
01 AFR2t2l Yl 1,200 1,800 A 600
OZ A2 LBt=FH| 100,000& = 12& 1,200
202 O B 6,000 6,000 0
01 2LH 0 HI 6,000 6,000 0
OZANER =X0H| 20,000& x5 x5 x12& 6,000
Hy=E 28,954 45,432 N 16,478
201 Bt A | 25,454 45,432 AN 19,978
01 AFR2 22l Yl 16,824 37,000 N20,176
O 22| LBtx=FH| 200,000& x12& 2,400
ORFEBHAE AIEDIIZE X222
800,000& x12& 9,600
Otlgstss 4,824
— S 15,000 x 142 x12& 2,520
— XX 12,0003 x 162 *12& 2,304
02 352494l 8,630 8,432 198
OFRFEEZHAE SXE2 200,000 100 4 2,000
OS&&H A= 200,000& x12& 2,400
OoNZT RXl2e 200,000& x12& 2,400
OAHOIETV=tl & 152,500& *12& 1,830
405 XtabF S| 3,500 0 3,500
01 AL 2B F SHI 3,500 0 3,500
OHICIQEZZ2 A EH (A) 3,300,000 * 14 3,300
Ot X Eatnet(al7) 200,000& = 10H 200
SHXES TAF L 22| 41,062 60,214 A 19,152
101 @121l 37,262 16,086 21,176
04 JI2ZtH22XNHEE =+ 37,262 16,086 21,176
OSHZ AN 12 9,482
— FHI XA E B2XRA 222
54,6103 *7H %27 x50% 5,161
— ZALKI & 22l Xt 49,8103 1 27 x50% 673
MY U AR
49,8103 *5H x24 2 x50% 2,989
—ddB8s L =0AHZ  5,834,000& *7.5% 438
— A EEE ¥ NEEEs
8,823,000& *2.5% 221
OdMBBEA ZAIA 212
52,120 & 413 x26 Y *50% 27,780
201 LEt2 Y| 1,800 42,128 AN40,328
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M ox
40 5 4

I SN Y. B () NEAY - BAS 0 AF o il HDS2
O0FAH| 139,780
—XNESEHH(EX)
3,500 x7H * 1600 X T 301! 117,992
— U NsSSEH(H)
3,500& x5 «5J1 X| CH x249 21,788
(@RTE==3] 100, 000& #3504 35,000
Ot 17,2383 =210 X| CH 362
oYy &H ¢ 100, 000& =210 X| CH 2,100
O=&xg RFH| 100,000 x 1500 XI CH =12 18,000
ogd 29| 90,000& *22 0 X| T = 12& 23,760
o= U= 2,500,000 *=8IH XI CH 20,000
401 Al HI YL 2 0HHI 4,200 7,500 A 3,300
01 A& HI 4,200 7,500 A 3,300
O x=A 42| 700,000& *6JH XI CH 4,200
AgEx2 1 4,000 0 4,000
307 QI2t0| ™ 4,000 0 4,000
02 DI2HZAAIEE X 4,000 0 4,000
OXSGAE HMS fst ZBHQ & =FFAH
4,000,000 =10 =X 4,000
BEN oZet P L KX 321,918 406,976 A 85,058
HESAMEH 2 116,450 176,626 NB60,176
405 XHaHFE SHI 116,450 176,626 ANB60,176
01 JtMt = S FSHI 116,450 176,626 ANB60,176
O AFZHHI(CHAN) 104,750
—HEH(2LIHZES 1,240,000& x70CH 86,800
— TElEHII(A3EB/EY) 760,000& *20CH 15,200
— A 550,000& =504 2,750
OPCIH4Y M3 AlAE 9,000
—SAUFEBHTA(XML)E IPESII(E, UAH)
300,000& *30CH 9,000
OFESANA WD (AF) 2,700,000& = 1CH 2,700
HESA AMEEY Y S 292 120,738 154,300 N 33,562
201 LEt2 Y| 120,738 134,300 AN 13,562
01 AR 22| bl 5,200 12,900 AT,700
OALZENH 7+ 4,000
—MSLI A2013 ABHCIE 350,000& =10 3,500
— 0l 28% ZTZ(POFEA =)
500,000& 1 500
O83ESH A28 F¢ 100,000& = 12& 1,200
02 35244l 115,538 121,400 AN5,862




a2 387 23 SN BT HINAD
Ha: NYBIAY 2
Chel: HEEM 0Zo 2E Y S22 CER-ED
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
OgYetE s 2( SINE2
70,000 x753| &« 12& 63,000
O dH¥NaE a3
25,000 x103| & ~12& 3,000
OZIDEBES A AE A 20,232
— QY NG (HAZE) M2 M2
300,000 13| & x12& 3,600
— O AHIA QY ME23HS
1,386,000 13| & x12& 16,632
QADSL(CIE L) 3l 2 30,000 133 & x12& 4,680
OolsdstAEZ 63,000& *30H 12 2,268
OFULEHHE JANG AIEBE
6,000& 1201 x12& 864
OlIPRED ¥ 2EHEH SXNNEX
170, 100, 000 & *6% 10,206
OFESA AEHEH SN
150,000, 0002 *6% 9,000
O8Ml = ZF0l4dy LEMEAEI (UPS)EH X
2 (THA) 143,000 x 16 * 104 & 2,288
et= RHS /s FES 2= 84,730 76,050 8,680
201 LBt ]| 69,730 68,050 1,680
01 AP 22| H| 67,330 63,550 3,780
OANOIAEBS WNE LAEE
70,000 «723 x11& 55,440
OANRIAMBgINEE I <
9,000 x4204 I+ & «30H 11,340
OANRIAEBZNEE 22| 50,000 1101 & 550
02 2224 2,400 4,500 A2,100
OANSAEESIN=EE &L 2ESPCY ZFEH EH|
200,000& x12& 2,400
207 I & 15,000 8,000 7,000
02 & AR EHY| 15,000 8,000 7,000
OF3d & S FoHdEH ZHOIA JHH
15,000,000 13| 15,000
SSHO FANS2Y 660,264 854,928 A\ 194,664
HAANE &5 L K2 452 164 627,428 N 175,264
SN0 HAL2e 108,364 166,973 A 58,609
201 LBt 9| 108,364 142,834 N34,470
01 AP 22| H| 34,390 30,790 3,600
OFANHIXE 32 4,140
— 832 200,000 x50 x33| 3,000
— A83I2 19,0008 x20JH 33l 1,140
OSIIHEEX #¢ 30,000 13 ~12& 360
O2AMNE=EH Y 50,000& x4 200

_7_




s22 =23 SN BT BN
SEXH0 FAS2Y
FAANE &5 ¥ FE* CEERED)
I SN Y. B () NEAY - BAS 0 AF o ﬁlf& HD=2
ONsZ4 2 itg K92 15,000 x200 8 3,000
obldl Xtz 25,000& *4201 A~ =128 12,600
O&=J],3JI88J| gdx&
40,0003 x18IH A~ = 12& 8,640
ONXE =2 15,000& 9021 1,350
oMgsHaa 2sI1F7 22l 175,000& x12& 2,100
O2E2e A28 FL(MXEND,2I2E)
1,500, 000& *13] 1,500
O=2223 HIIXMe ==& S 500,000 *13] 500
02 B32ZH| 73,974 112,044 A 38,070
OFAMNANEZ 2& XN & 5,000,000 14 5,000
OFAN SEA SXNES 400,000& * 1204 4~ 4,800
OFA &Y (RE,AS) 800,000& x6& 4,800
OFA ABAIE OFA 22| HI 350,000& 128 4,200
Os&J w22l 400,000 x12& 4,800
OEZAIJIAAID HiA HAESHE 60,000& *13] 60
O& A RX I 1,000,000& x12& 12,000
OFAMN HIANEZS FNES A2 F¢
500,000& 12& 6,000
OFAN HIANEE FANES 80, 000& *300kw 24,000
OFA HAZLHMI SX22ld]l 150,000 128 1,800
OFAN 243 FAH ¥ A=
1,700,000& 23] 3,400
OFAMN M=Zx & sUtlis2 =Z 2 Att]
150,000& *13] 150
Os2dJl HIIZBAZ 150,000& *2CH 13| 300
OFAF H3X E AUl 17,000& %156.672= 13| 2,664
HAAL UR HEs 97,000 195,255 198,255
401 Al HI YL 2 0HHI 97,000 195,255 N 98,255
01 Al tl 97,000 195,255 £98,255
OBA Z54 & L) M2 2 83 SU
E HAZA 10,000,000& * 14! 10,000
OFAL Agta H HEt)] Hugr M5
1,000, 000& *23] 2,000
OFAMU sXAIES 222 A 25,000 «400m* 10,000
OFAMNAE (H2EZE)E A 15,000,000& * 14! 15,000
OFAMAE 272 243 A 60,000,000 14| 60,000
=322 2 MA 246,800 265,200 A 18,400
201 et A | 246,800 265,200 A 18,400
02 38244 246,800 265,200 A 18,400
OFAN ¥ - L4 Z TAIA 22
7,000,000& x12& 84,000
OANEE nExsedIE3 2,000,000& *13| 2,000




42 57 23 SN EET HINAD
Ha: 58F0 ALY
SRl BANE 2B L RXB4 CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
OFA Zolgdael 0 248
700,000 ~12& 8,400
OFAN HII22 11,000,000& x12& 132,000
OFEAN ol 23 1,700,000 x12& 20,400
XY 22 208,100 227,500 A 19,400
2SR 2 40,000 20,000 20,000
405 XHo&HF S HI 40,000 20,000 20,000
01 XML 2SS F S| 40,000 20,000 20,000
Odt=E&=4 A2 (90718940, CH AI)
20,000,000 = 1CH 20,000
OE2E42 A2 IS(90018497, CHAI)
20,000,000 = 1CH 20,000
2SI SA 2l 168, 100 207,500 A 39,400
201 et Y| 168, 100 205,500 N 37,400
02 B232%H| 168, 100 205,500 A 37,400
OXsx B8 2 650,000 x42CH 27,300
OAMNZD XD B2 150,000& *20CH 3,000
O Xt XA 3,750
—=s2x 250,000 *2CH x23] 1,000
—d&sEX 100, 000& *15CH *x 13| 1,500
— S8 2 3= 50,000& *25CH x13] 1,250
OXNSA 2AF Y HUXMH =422 2,550
— A J| A A 25,000 =42CH 1,050
— S HA 60,000 *25CH 1,500
OXegs Xl 3,000,000 »39CH 117,000
OEfxxg KX 5,000, 000& *2LH 10,000
Ot RS2 90, 000& *25CH *x23| 4,500
WIS AP (ZAT HFXAD) 3,590,756 2,558,850 1,031,906
olEady|(s2) 3,325,456 2,258,190 1,067,266
ol 2AH| 3,325,456 2,258,190 1,067,266
101 21 214| 1,694,944 742,990 951,954
02 JIEtE 2 % 74,146 25,657 48,489
OFJEZ LIHZE2FE AISEE MEHE BE
= 74,146
—A2AdEE = 911,172, 190& *3.035% 27,655
—AJRQLUYBE = 27,655,400 *6.55% 1,812
—=0AZ 563,806,680& *x4.5% 25,372
— 8288 = 911,172,190 *1.5% 13,668
—MHEES 563,806,680& *x1.0% 5,639
03 2IHALZZHE = 1,620,798 717,333 903, 465
OF A2 31,517




M ox
40 5 4
2 0% o

A7 =3 SN EET Y
He QB (FRP AFNADL)
A2l (52)

SN -FH-SA(BA) - HRAY - B il HlnE2
—Jles 1,848,070 x 1« 12& 22,177
— W Z A 110,000& =128 1,320
FEFOHYI 1,848,070& 1 x100% 1,849
—N2aRsY
8,690% 1.5 *31Al 2tx 12 4,850
— ¢ xt=sg 8,690 «8BAl 2t+1H 19 1,321
O33R AZEE ASE RES 259,281
—d2ZEE= 2,804,511,320& »3.035% 85,117
- &I RIEER 85,116,920 x6.55% 5,576
— =38z 2,804,511,320& *4.5% 126,204
— 1828z 2,804,511,320& *1.5% 42,068
—MHEEZ 31,514,810& *1.0% 316
O3 g&z 133,000,000& 10X ,330,000
303 Z& = 990,000 950,000 40,000
02 8&03 990,000 950,000 40,000
O&aNn=3 990,000, 000& 990,000
04 ASRE=S 640,512 565,200 75,312
02 =2AH22E S 640,512 565,200 75,312
ORDIALBHZ MLE 2H2
19,806,798, 330& *3.035% 601,137
OEINRQLYEE MY RES
601, 136,330& *6.55% 39,375
|23 bl 265,300 300,660 A 35,360
JI23l 265,300 300,660 A 35,360
201 £B-2d| 170,180 188, 150 217,970
01 At 22l 170,180 188, 150 A17,970
ORAd2gt| 60,000 x28H x12& 20,160
OJ122 &l 70,0003 x28H 123 23,520
OgAtl 120,500
- =% 50,0003 x5H 3652 91,250
— o= 50,0003 x5« 117 29,250
gXa 23| 500,000& x12& 6,000
202 odl 55,800 72,000 216,200
01 = LH o4 1l 54,000 70,200 A 16,200
OJI2g2F=8ol 150,000& 30 »12& 54,000
02 M| 1,800 1,800 0
O2MAFS A I 150,000& 1H 122 1,800
203 YR =] 38,320 38,710 A 390
01 JI22L =8| 26,400 26,400 0
O+&8% 26,400,000 26,400
02 A H 2= 7,720 7,510 210
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02 JIEt®8 2 520,921 188,951 331,970
OAZTEET AIIH BRI (FXESE) oA 520,921
- 20 1,212,570 218 =128 305,568
—=0A2AdEEZ 446,320,990& *3.06% 13,658
- LB 13,657 ,422°& *6.55% 895
— =028 446,320,990 & *4 . 5% 20,085
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— 3B XH|
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4= 587 28 SN BT HAAMD
M MENE BES
ool MEXR 25 84 CERED
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
- F=5dsE 56,000& x5H 24 6,720
— X< 56,000& x5 x5 1,400
—AMTHEE 2 52,220,000 *89/1,000 4,648
ONE2ZANE & M2 XU LI=H| 9,500
— &3 s 100, 000& *25H 23| 5,000
— OtXM 5} 70,000& *30H 23] 4,200
—2& - 2K 10,000& *30H 300
201 et A bl 10,732 13,500 N2,768
01 AFR2 2t 2l Yl 5,432 8,200 N2,768
OZ2&H| 5,432
—AERNHHES 29X SH(2. 0128
) 7,000 *8H 97 5,432
02 332Z 4l 5,300 5,300 0
O332=2 % HA 5,300
~YHIY SASABI 254
500,000& *1CH =8 & 4,000
— Yol SYMELH L SEBZ FALI(AA,
227]) 400,000& x1CH x23] 800
—MEZAE &I D& 2/t
50,000& =10CH 500
401 Al B 2 0HHI 20,000 0 20,000
01 A& HI 20,000 0 20,000
OBS 4+ A2l SAt 20,000,000 20,000
HHNSHHH(ZSRF SHEAMD) 1,977,998 2,483,978 A 505,980
ol A 1,866,278 2,370,958 A 504,680
ol 2A | 1,866,278 2,370,958 504,680
101 @121 1,866,278 2,370,958 504,680
03 I HL 2= HE S 1,866,278 2,370,958 A504,680
Ostg & oAy 1,710,251
—-JI=23 3,077, 1503 »29H «12& 1,070,849
- tExY 25,0003 *29H 2 5H «12& 21,750
—xZU=22xg 21,6803 *29% *300A| 24 188,616
—5222 95,2203 *29H x70 193,297
— X 115,670& 29 25! 83,861
— JHZAY| 180,000& *29H x12& 62,640
— @& EIy| 1,538,570& x29H x23] 89,238
Ostd &2 d 1=l 20,880
— OF&E X 30, 000& *2 & x29H 1,740
—EId=(£38) 35,000& x2 & *29H 2,030
— ot=3t2 50,000& *2 & x29H 2,900
—BEA=E(FSE) 40,000& *2 & *29H 2,320
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4= 5837 28 SN BT HAAMD
Ho: BHSYYH (YR SSALD)
Sel: o2y (B9 ®R)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
-5 & - ot2 200,000 =18 x29H 5,800
— OtN B2 25,000& *29H 725
- 29 70,000& *29H 2,030
— &3 15,0003 x29H 435
— g stE 2 20,000& *29H 580
— 25t 80,000& *29H 2,320
Ost3d & MMHEEZ
1,710,251,000& *3.3% 56,439
QHJIE2 E8E) 52 78,708
—-JI=3 1,941,160 x2H »12& 46,588
— JHZAH| 110,000& 2~ 128 2,640
— @& EIy| 1,941, 160& 2% *100% 3,883
—ItEx4 80,000& x2H x12& 1,920
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OEXZ2 HHAZBHEE NIIEES
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—S)|RH s = 1,630 2004 x12& 3,912
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201 LBt 9| 30,800 30,800 0
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—2dE WA 12,000, 000& 12,000
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